T

)M E W%t H

R

(HF M EH X

CEVEY VL
A% (T)
(2) STERAEHENERBEEN R
TiE
EAU B ARG, TRRI = 2L
EREERBER (BENRASE R H) &Y
bk, LRy 5 R e AR A 555

UL A B R AN, BEENRTT
EIRF. LU RAHIRFUREE.

1, B2 HRIIF IS

SN ENER XD AT RAST
X RAR B

% 3-4 PHRhAFp /N, B TR KIS E
Pe 224l 60 =T/ AT, & BUEERN A EEE L
T AR R Z A IR WA TR E 52

£33 OFPREHERZREHNERNE(SORETES

(2) BEEHACDEENRLE R RFIEAE
HSEME M nn=m=mn=n=8n=4X
8 =32, BHEZWH(LOWESI, n,=8,K =4,
a=0.05 Frx N 2 (& . 45.6 (2.043);

g —F O Hh £ = 3 g fh I 52 g
(xi1) (xiz) (xi3) (xi4) Riy R;: R;; Ris
19.5 25.0 15.5 14.0 9.5 16 2.5 L
21.5 26.5 16.0 15.5 12 20 4 2.3
23.0 27.5 18.5 16.5 13 22 6 5
23.0 28.5 19.5 19.0 14 23.5 9.5 7
26.5 29.5 21.0 19.0 20 25 11 8
26.5 33.0 23.5 26.0 20 28 15 | 17.5
30.5 36.0 26.0 30.0 27 30 17.5 26
37.5 0.5 28.5 34.5 31 32 23.5 29
Fu=26.0 | F,=30.8 | #;=21.1 | %,=21.8 | Ry=146.5 | R, =196.5 | R.;=89.0 | R.,=96.0
€ W R+ R+ Ryt R = 22 D mapi, 0 = 5,
H s 146.5 4+ 196.5 +89.0 + 96.0 = 22X 33 528 n—d x5 =32
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LT e e ——— T e T R R m_F_=
(xi) (xi2) (x:3) (xi4) (xia) (xi5) Ris Ris
97 39 51 122 122 51 5 1
112 48 65 137 137 65 8 2
134 58 72 169 169 72 11 3
161 71 90 179 179 90 12 4
189 88 125 193 193 125 13 6
231 101 132 199 199 132 14 7
284 102 141 223 223 141 16 9
369 102 162 269 269 162 17 10
374 112 213 277 277 213 18 15
461 204 310 352 352 310 20 19
=241.2| £, =92.5 | £, =136.1| £.,=212.0 R,=134 | Ru=76
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193 189 10 9 66.4 73.9 136.1 143.6
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#3-10. FRBERN S HPRMOBERE (%)

% -5 KW # A 109% B W & A
ol B OB | % K| KEBER | & K | % KB OB % KF|AEBR|AR K
91.8 99.2 95.9 46.5 20.8 85.8 98.7 95.8 34.1 22.2
94.2 99.3 97.5 56.2 26.1 87.2 98.7 95.9 36.4 23.3
94.5 99.6 - 98.2 70.8 28.4 90.1 98.9 96.0 57.1 24.2
95.5 99.6 98.2 71.9 28.8 90.8 99.0 96.5 66.4 25.5
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A IEE) 0

(1) HEFRE o {ERRBRIGEIIN &Y
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M P I 56 7 « % 3-11,
#3111 HI36 8% O F N B A %
% 54 k] * % A K E R K i3
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i | Ry | %iz | Riz | % | Rin | %2 | Riz | i1 | Rin | %2 | Riz | #sn | Riv | %2 | Riz | xin | Riv | %2 | Ris
91.81 5 {85.81 1 199.2| 5 |98.7| 1 |95.9|2.5]95.8] 1 [46.5| 3 {34.1] 1 20.8 1 22,21 2
94.21 6 187.2F 2 199.3) 6 [98.71 2 197.51 6 {95.9!12.5156.2) 4 i36.4} 2 26.1 6 23.3} 3
94,51 7 (90.1] 3 {99.6] 7 |98.9] 3 [98.21 7 {96.0 70.8} 7 |57.2f s 28.4 7 2421 4
95.5( 8 190.8| 4.199.6] 8 [99.0} 4 {98.2] 8 [96.5| 5 {71.9{ § |66.4] ¢ 28.8 8 25.5| 5

Ra= R-g; R,= R.,= Ro= R,= R,= R.,= Ro== R.,=

26 10 26 10 23.5 12.5 22 14 22 14

5 Ruy =26 + 26 + 23.5 + 22 ++ 22 = 119.5;

ZRey=10 410 4 12.5 + 14+ 14 = 60.5

() BEFRACPEENELSER, KH 2R,
(B ZR.) IR KWK, K =2,k =5,n=4,
. =0.05 (8 0.01) Fird R 9 -

& Ry = 74.8; 2 Roj.0 = 105.2

ZR.emw = 7005 2 R.j0u6 = 110.0
2R, (2R TE S Ry 5 2 Rajposw
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£312 FRHEEASSFIRAINRE %

1 2 74/C0 fUE R *P) 5% F/(10 WER *P) 10 2 F+/C10 R R *P)

57 1107 | 157 | 207 {30 {45 | 60° | 5 |-10” | 15 | 20” | 30 | 45 {60 | 57 [ 107 | 15 207 |307|45"|60"

97.0096.0(95.0193.5[92.0/53.5(47.4|97.5(95.0]{91.0{78.567.8|66.5|57.4|95.0(93.5]80.5|73.365.5/54.0/43.5
100.0{95.0198.088.5|78.5|67.0|57.2199.0{92.5|82.0|76.0|70.5{56.6(55.0197.0|91.077.0|65.0(62.5/46.543.5
99.5199.0/85.5]78.0(76.5|72.0|64.0/99.5{97.0|88.0|82.5|70.059.5|60.3|86.5|73.0|64.0|62.0}43.3134.0[29.5

98.8|96.7(92.8{86.7{82.3{64.2(56.2(98.794.8{87.0{79.0(69.4(60.9(57.6{92.8 85.8 73.8(66.8 57,144.838.8

£33 pl 3T M B F W B ZR %

5 4 : 10 4 15 4 20 4%
1=7 5ERF | 10=HA | 12HF | 5EA | 10mH | 1ZF | SEFA | 102F | 127 | 52T | 10=F

it | Rjn | wiz | Ria | %is | Ria | wir | Rin | 52 | Rip | %53 Ris| Xt | Rin | %i2 | Rin | xis | Ris | iy | Ris | Xiz | Ria | %33 | Ris

97.01 3.5 197.515 [86.5] 1 {95.0{ 5.5[92.5| 3 (73.0{ 1 [85.0; 5 [82.0) 4 |64.0| 1 |78.0| 5 |76.0| 4 |62.0] 1
99,5/ 7.5 199.01 6 {95.0| 2 [96.0] 7 [95.0{ 5.5(91.0] 2 |95.0} & 88.0] 6 |77.0| 2 |88.5| 8 [78.5| 6 [65.0] 2
100.0] 9 99.5( 7.5 |97.0] 3.5/99.0/ 9 |97.0| 8 193.5| 4 {98.0; 9 {91.0f 7 [80.5| 3 [93.5| 9 |82.5| 7 |73.3] 3

R.y== o= R.5= R.= R.,=| R.;= R.,.= R.,= R.y= Ro= R.,= R.=
20 i8.5 6.5 21.5 16.5 7 22 17 6 22 17 6
30 4 45 4 60 4
125 5 % 7 16 = 7 1 =7 5 2 |10 = H 1 =2 H# 5 2% 7 10 = F#
k1 Riy Ziz Riz xi3 | Ris ;r,», Ri | xi2 | Riz | xis | Ris *i1 | Rix | %2 | Riz | i3 | Ris
76.5 7 67.8 3 62.0 1 53.0 3 56.6 5 34.0 1 47.4 4 55.0 5 29.5 1
78.5 8 70.0 4 65.0 2 67.0 8 59.5 6 46.5 2 57.2 57.4 7 43.5 2
92.0 9 70.5 5 73.3 6 72.0 9 66.5 7 54.0 4 4 60.3 8 43.5 3
R. = R., = R = R.= Ruy= Ruy= Ru= R.,= Ry =
24 12 9 20 18 7 19 20 6
SR =204+ 21.5 4 22 4 22 4 24 + 20 -+ 19 — 148.5 TH ZRu 4 2Ry + TR, = w HATRIT

SR, =18.5416.5417 + 17 + 12 4 18 + 20 = 119.0 %4+ 148.5+119.0+47.5=w —315

ZRy;=65+7+6+6+9+7+6=47.5

n=13, «a=005 (8 0.01) FrfMMERN: ZAEFIEFBE (P<0.01); FERKEH/N
3 Rojoow = 8237 5 Rujoesw = 1277 # (L Z=H/10 787 B 2P) HAAX IRERER I

5 Rojnnw = 7643 5 Roooew = 1336 R Z Ko
| JELST 57 2 5 5 S U0 A
T IR 55 et F TR SV S B EVES i AR R

AN, 52PN ERTBEENE A2
I IS 2 A0 2 , R IR P ER, A 2840

AP B3 T IR A B A M R 2 — R
FRRE A REEREHIHEEERIN.

2 R.ji0.01(L) ZR.j50.01(0)
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MES HMIGCRAEXTHYERBEURFMNREIARTH
PR oy S R < R pe wi=1-«a
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nl a K==3- K=4 K=3 K=6 K=7 K=38§ K=29 K =10
610.05| 7.5:6.5 1 8.5;:21.5] 9.5: 26.5 | 10.5; 31.5 | 11 ;37 |12 ;42 13 :47 114 ;32
{7001 ] 6 ;18 7 .23 7.5: 28,5} 8 : 34 8.5:39.5| 9 ; 45 9.3: 50.5110 : 36
7 00579 19 10.5; 24.5.| 11.5; 30 5113 1 36 14 :-42 15.5; 47.5 | 16.5; 33.5 [ 18 : 59
f10.01) 7.5: 20051 8.57 26.5 1 9.5; 32.5 [ 10.5; 38.5 { 11.5:.44.5 |12 : 51 17+ 57 4 : 63
g | 0-05 | 10.5; 21.5 |'12.5; 27.5| 14 5 34 15.57 40.5 | 17 - ; 47 19 : 53 20.5: 59.5.1.22 : 66
“®10.01 | 9.5; 22,5 [10.53 29.5 [ 12 3 36 13 ; 43 14 : 50 15.5+ 56.5 | 16.5: 63.5 17.5: 70.3
9| 0.05|12.5; 23.5 | 14.5; 30.5 | 16.5; 37.5 | 18.5; 44.5 | 20.5; 51.5 | 22.5; 58.5 | 24 ; 66 26 173
6.01 |11 : 25 12.5: 32.5 {14 ; 40 15.5: 47.5 | 17 + 55 18.5: 62.5 |20 : 70 21.5: 77.5
10| 0-05 |14 ;26 16.5; 33.5 1’19 ;41 28 » 49 23.5:°56.5 {26 . 2 64 28 72 30.5: 79.5
10,01 ] 12.5: 27,5 | 14.5; 35.5 | 16.3;.43.5 {18 ;.52 [ 20 ; 60 22 5 68 .123.5; 76.5] 25.5; 84.5
mn>1M£K>ulmTﬁ§&§ﬁﬁﬁ
R.i;o.ns(ﬁo.m)(b) ———ﬂ(K + 1) - tu.o5<ﬁtn.m)\/-——-—-—————————ﬂ ("K + 1K — Lp)
2 12
R.i:n.os(ﬂo.oncu) = —n(—K+—1) + £).05(3k0:01), /Ml
. 2 k' 12
Zo,0s(z 0.01) EEZY (_t) Mi3% 4
WE6 W HFE N BB R (2K #
P[ZRjiawy < TRy <IRyum]l=1—a
K=2
k3
o k=2 k=3 ko= k=75 k=6 k=17
3 0.05 14.67 27:4 23.7: 39.3 33.0: 51.0 42.5; 62.5 52.0; 74.0 61.67 85.4
0.01 | 12.6: 29.4: | 21.3: 41.7 30.2: 33.8 39.3: 65.7 48.5: 77.5 57.9: 89.1
4 0.05 | 26.4; 45.6 42.2; 65.8 58.4; 85.6 74.8; 105.2 91.4: 124.6 | 108.0: 144.0
0,01 23.4: 48.6 38.57 69.5 54.1: 89.9 70.0+ 110.0 86.1: 129.9 | 102.3: 149.7
. 0.05 41.7; 68.3 66.37 98.7 91.3: 128.7 | 117.4: 157.6 | 142.0+ 188.0 | 167.7: 217.3
0.01 37.5; 72.5 61.1: 103.9 85.3:-134.7 | 111.0: 164.0 |.134.7; 195.3 | 159.8; 225.2
p 0.05 60.7: 95.3 95.8: 138.2 [ 131.5; 180.5 | 167.6; 222.4 | 204.0: 264:0 | 240.6: 305.4
0.01:{ 55.2: 100.8 89.1: 144.9 ['123.8: 188.2 | 159.0; 231.0 | 194.6; 273.4 | 230.4; 315.6
7 0.05 84.23 125.8 | 130.9: 184.1 |:177.3; 240.7 | 228.2: 296.8 | 277.4; 352.6 | 326.9; 408.1
‘ <001 | TFi6; 132.4 | 122.57 192.5 | 167.6% 250.4 |°217.67 307.6 ~|'265.3: 364.5 [|314.1; 420.9
K=3
7
« F=2 F=3 k=4 k=5 k=6 k=17
3 0.05 17.9: 42.1 30.2: 59.8 42.9; 77.1 55.9; 94,1 69.0; 111.0 82.3: 127.7
0.61 14.7; 45.3 26.3; 63.7 38.4: 81.6 50.8: 99.2 63.5; 116.5 76.4: 133.6
0.05 33,67 70.4 55.5: 160.5 78.03 130.0 | 100.9; 159.1 | 124.1; 187.9 | 147.6; 216.4
4 .01 28.8; 75.2 49.5; 105.3 71.2; 136.8 93.3: 166.7 | 115.7: 196.3 | 138.5: 225.5
5 0.05 | '54.5; 105.5 88.8: 151.5 | 123.8; 196.1 | 159.6: 240.4 | 195.8; 284.2 | 232.3: 327.7
2.1 0.01 ' 47.8; 112.2 80:5; 159.5 .} 114,4; 205.6 | 149.1; 250.9 | 184.2; 295.8 | 219.7: 340.3
6 0.05 80.6: 147.4 | 130.1: 211.9 | 180.8: 275.2 | 232.2: 337.8 | 284.2: 399.8 | 336.6: 461.4
0.01 71.9: 156.1 | 119.4: 222.6 | 168.4: 287.6 |'218.4; 351.6 | 269.07 415.0 | 320.2: 477.8
;| 005 | 112.13 195.9 |1179;7; 282.3 | 248.6; 367.4 | 318.8; 451.2 | 380.4: 534.6 | 460.63 617.4
0.01 |101.1; 206.9 | 166.2; 295.8 | 233.1: 382.9 | 301.4; 468.6 {°370.4; 553.6 | 440.0; 638.0
Steel; R. G. D., et ali.: Principles and: Procedures of Sra-
tistics, 1960. (%@-‘*)



